
多項式の計算（乗法公式❶） №４

乗法公式 （χ＋ａ）（χ＋ｂ）＝χ２＋（ａ＋ｂ）χ＋ａｂ

１．次の式を展開しなさい。

例 （χ＋２）（χ＋６） ＝ χ２ ＋（２＋６）χ ＋２×６
＝ χ２ ＋ ８χ ＋１２

２
χ ６ χ ２ ６

χ ⇒ χ χ ６

２

①（χ＋２）（χ＋８） ②（χ＋５）（χ＋２） ③（χ＋４）（χ－３）

④（χ－５）（χ＋１） ⑤（χ－６）（χ－２） ⑥（χ＋７）（χ－３）

⑦（χ＋３）（χ＋２） ⑧（χ－１）（χ－３） ⑨（χ＋８）（χ－２）

〈答え〉
①（χ＋２）（χ＋８） ②（χ＋５）（χ＋２） ③（χ＋４）（χ－３）
＝χ

２
＋（２＋８）χ＋２×８ ＝χ

２
＋（５＋２）χ＋５×２ ＝χ

２
＋（４－３）χ＋４×（－３）

＝χ
２
＋１０χ＋１６ ＝χ

２
＋７χ＋１０ ＝χ２

＋χ－１２

④（χ－５）（χ＋１） ⑤（χ－６）（χ－２）
＝χ

２
＋（－５＋１）χ＋－５×１ ＝χ

２
＋（－６－２）χ－６×（－２）

＝χ
２
－４χ－５ ＝χ

２
－８χ＋１２

⑥（χ＋７）（χ－３） ⑦（χ＋３）（χ＋２）
＝χ

２
＋（７－３）χ＋７×（－３） ＝χ

２
＋（３＋２）χ＋３×２

＝χ
２
＋４χ－２１ ＝χ

２
＋５χ＋６

⑧（χ－１）（χ－３） ⑨（χ＋８）（χ－２）
＝χ

２
＋（－１－３）χ－１×（－３） ＝χ

２
＋（８－２）χ＋８×（－２）

＝χ
２
－４χ＋３ ＝χ

２
＋６χ－１６


